s/ \ oL = dw . £00-200 . F00 0 rev/mint
¢ 4/60

wz:wrz*z‘xal £00%: 200 + 2(?000)© (rev/min)®

: 6= MZ_ 3 —
2(9000) “i?_‘a_rm:’ "N



r=J300mm or 0.5 m
(@) Scaiar. U=lw =0,5/%0) =5 m/s

2
Q“—On: rev = o, _-,‘“{/01)_- 50 m/:,z
) [=0.3(+0.4y m | W=r0k radjs

V=wxrs 10kx (0.3 +0.4/) = 3/ + ()

U=V32% -9z 5 mfs

As wxr + wxr s O+wxV

-
-

O+ 10k x (3 -FL)< -30L 0] m/s?

12]=Y30% 40 = 55 mfst



5/3 | ket Kk be a untt vedhr out of Paper,
@) Vg = WXTa, = 3kxbo4e, )= 1R ms
A = A X Ty - wl_f‘ﬁ/o = = |4kx (—0.4en)-32(—0.4§n)

= ~5.6€¢ +3.6e, mls®

() vg = wx Te/, = Skx (—0-4‘e_n t O-‘Qt)

.2 e, +0.3e, M™/s

11

= AXPr., —W°
Qe = 2XIg, Ta/s

- 4k x(-04en+ o.|§t>—37‘(-0.4e_n+o.lgt>
—b.hey + 2.2¢, mls*

M

"




—rm—

i

0.638

-

w s Y
aﬁia: a)Carf_ C%G- 6
40 _{_7'_/4

/1.231] rad/sec

o =

/4,20
(56-8)/12

: rad
28552,



5/5 | For 8=905 a=-a,i -Q,j S0 a,=ra =1.8 m/s%,
aé=_é.§= 6["44/51
0.3

¢ a,=rw*=448 mfs? w=]/4,¢?/0, 3 =4 rad/s



ax,="3.02 'n/.,s‘z

\\.P
/ }af-/.ez#m/ﬁ

gy 7
| /
/
; - a,=3.025in60°- 1,624 cos 60°= /803 %
Veor A, =302 cos 604 1.624 5i 60°=2.92 =
S

a,=ra: of=/803/0.3= 6.0/ radfs*?
a, =rw* w®=2 92/0.3 = 9.72 (rad/s)? =312 rad/s




5/7 O =263-34%+4 rad
6= 6t -6t raa/s
O =/2¢ -6 rod/s?
When &=492redfs? 42:/2¢ -6, ¢ 45

when 6 :66rad/s® 66:/2¢6-6,2=65

Gt . 2(43)-3(4%) ¢+ ¢ = 64 rod
=45
8.gs ® 2(6%) -3(c3 +¢ = 328 rad

A6 =328 -84 = 244 rad






J/? a=q=ro«
8 ¢
: = = z
W=+ AL, 300(2”}/60_0‘{-0((2)’o(__‘j‘n-,-a‘l/’

Thes S5 = ’w/‘f”); r=0.350 m

b=V 0.350%-0.3* = 0,/806 m or b =180.6 mm



Iz

Us x¥ = kx[s5L +0.2) + 0.050k |
4L+ mls

A% €+ @ xluxg)

-3k x[0.5{ +0.2) + .050k]

+ 2k x [k x (0.50 +9.2) + 0,08 |
= -4 -23) mst

Nete Thaet v could hove been taken as 0.5{ +0.2/m
The Mognitudes of The abae resub art il
'UFP S oq'.[ m‘& Q'l\&.

Thest rmy\\hm Chedy  with

Ne = rM3m=Jo.5T+o.zL (2\ = 1077 wmlst
(8 = 2 - (S i
ank Gy th"ﬂn \/&"30() ¥ (r"{jmt)

:_Jo,'57'4—o.22' \/311— 24‘ = Z.69 mlsﬁL v~




dw
=25

7.9 (Y2) = 3.95 rad/s?

"




5/12 = (=1 +1.5t)e 3T
= %% = -O.5(-|+ .5t E'_-O'St 4 I-Sa—o'St
5

= (= -0.754:) e

dw -0.5¢ —-a.5¢
AT AL = —0.5 (2-0.75t)e =015 e
= (-1.75 + 0.3'15Jc)e.—°'5t
= 0 When —1[,15+0.315t =0, t=467s

)




6 o =
(rad)
-1
0 t,s 20
2
o
Q‘q&/s)
0] —
-1
0 t)s 20
1
(@)
oA
osls?)
-2
0 t,s 20
0.05
o
(rud/sz)
0 p—— e
f""fﬂ-ﬂ_
,-'-”"FHJF
-0.05
4 t,s 5



3 | &,

1= 0.3(+028 m
= G_OX_G = -6&1')((0.35! 1"‘0;23;/) = -/?J. */'68-‘;: ‘m/s

QJBC: -6k rad/s

>

&a
Yp= 1.68L 18] mmys
-QA= _é)x_l;] twxly =0+ (6K )x (,'68_‘._/'5:‘/.)

~/0.08/ - /0.8¢
- * B 2
&,=-10.5¢ ~/0.08) m/s




5/14 | At B v=224y=73.3 fifsec, r=/30-12=/78.5 #t

w=v/r =73,3/178.5 = 0.411 radfsec

Between A § B “on =j--f—= /_";—g-jz//.j'z = 0.344 rad/sec




(G5),, m/s?

- )y = {5 = o
w=Y/fr L2z 20 rad s

@),z r@" = 0.15(20)" 60 m /5"
(Ga), =\ (15)*- (60 “= 45m/s%
X =y = 45/0,,5 = Joo rad/s?

(ag) = 0.015(20)% = 30 m/s?
@g), = re c0.075(300) = 22.5 m/s?

4y =\/(30)"+(22.9% = 37.5 m/s?

g

c:aﬂ‘ = 22.5m/s?






5/17 |_vA'= WXFy | gjzwhk k4L w2 rex/sc
w=2Zk rad/sec

6¢ = otk X 4/ ) = - 3[? red/sec*

_9(: - E _/f' I’da’/_{d{,

x Iy +a)x/c0)<r)
x——(c -,,/) 42k x(erxd Z[¢ )

(-£~) +22 (t tJ) I/E('//.é t5y) infsec?

@]c\ le "R




-
48| al’ = - 4.2 Hlsec

U
/ U= 4.2/5:n 20°= /2.28 #/sec
P w=Y. /2.2¢ oo,
— e —— 5 —
a8 — X r 6/r2 e Jec
ccw
W = "C‘Uop= +24.6 k4 rad/sec

Element BC remams poralle! fo #-axis so hos no
Gngesar velocity



5/1y D(:i‘.’z‘—":z-kt :2-02¢

w ¢
Jdw = [(2-0.28)d w=qy +2¢-0.1¢*
J) o
@, &
w = 200x2[/60 = 20.9 red/s
Fort=5s, w=20.92+2(5)-0./1(52)= 28.¢ rad/s
Nz 284x60/yp = 272 rev/min




5/2o|' 5 a

[~

|

n /.
1@0
6" \u

Ve

YT Ta
& P

o= 60_600@) 2’. = /07 rod/sec?

G=ra =6(10r) =601 in.[sec?
@,z raw? = 6om in./sect for 45°
S0 wi: 60/?'/6 _-,,op-’ W=560 rad/s

cu=a)a+-océ: 560 =0+t ¢tz 0.1784 sec




5/ w=v/r = £Z -
'_ag:l Gg= 45m[s* /r 0075 20 rod/s
: ¢ a = at/f = f_i:/VZ.S'rad/Sz
0.4
2

= pd = 0.36/20)2

X A
O/@ Ay romts T aa s
Corr 0.075m (Qc.): reé = . 36(1/2.5)

= 40.5 m/s?

(%), o 4= (148)% (40.9)% 149.6 m/s*



5/22| « =18 - ke revfs® , @ in revelutions
0.6=/8-k(20), h=o0.06 /52
Sov OC=/.8—0:0(¢9£EV/52 J.zaa/": 3oos = 5 reys
wdo) = Xd@ . /wdu) :/(7-?'0-069)‘/5
: S o
ws 5”‘+z[/. 86 -0036°]2°<25+48 « 73 (revfs)’
- o

w=V737 8.5 revfs or A:85¢(6c)c 573 rE/mun



2 ]: y 7
-5—/ 3 oryedr‘A) Aé)='£dAa[t) /\/A = A/‘S
- 2n _ “#+8
WA 600)6 - __(5_2)) /\4=600+ 224__324,.9.,/,,,;,,

so at t=65) A/B = -g‘-zz—q'z V7753 r‘ev/mfn




. l2g= 1
|
/ So Fhral
0 . /2
wC_{F) ,
' 2 2
| V] C  Swmrlarly O/C-_-(_IQ)O(J
2
, _ r 2
2
ror B a = ra’ - @[(E,)d/z,]
- - Ve 2
PR /-;—’ &,
| 2 4 2,4
r\
Z=W=£dl ) (D)
P = 2
2




J/ZSI Xz22bc058, X.z-266 58 U=k
4

B Wilg =0 S0 _ -U
Y= T cw
b L 26 Sin&
C o ) v Ror a=x const. %= 2ax
x A =V 2ax
So ) = V 2ax _ Y2ax
26V /- cos 9 4b2- X2




